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int TW[10] = {81, 82, 83, 84, 85, 86, 87, 88, 89, 90};
double USA[10] = {6.5, 7, 7.5, 8. 8.5, 9, 9.5, 10, 10.5, 11}:
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int i, twSize, TW[10] = {81, 82, 83, 84, 85, 86, 87, 88, 89, 90};
double usaSize, USA[10] ={6.5, 7, 7.5, 8. 8.5, 9, 9.5, 10, 10.5, 11};
scanf("%d", &twSize);
for (i=0; i<10; i++)
if (twSize == TWIi]) {
printf("USA size = %.1\n", USAJi]);
break;

}
i B LA e USAF‘ gl Jﬁf% FIS] usaSize » FEUEY
%ﬁ'jHHJ < P B ISR RS RO A

' ' B if (usaSize > USA[i]-1e-6)&& (usaS|ze < USA[i]+1e-6)) {




bl /H“ﬂiﬁ[’ﬁiﬁ‘ SO > Bl R R eI

I'ﬂ@[' usaSize = 6.5 + (twSize — 81) * 0.5;
twSize = 81 + (usaSize — 6.5) / 0.5;
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char chineseNumeral[][3] = {"O", T L i R
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int number;

scanf("%d", &number); // 0-9
printf("%s\n", chineseNumeral[number]);
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: int number;
int number; scanf("%d", &number); // 0-9
scanf("%d", &number); // 0-9 switch (number) {
if (number == 0) case O:
printf("O"); . printf("O"); break;
else if (number == 1) Flyfé case 1-
printf("- "); prmtf( ~"): break;
else // if (number == 9) case 9:
printf(“7J="); printf(“]-");

}
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int x = 1234;

while (x>0) {
printf("%d ", x % 10);
X =x/10;

}
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int x = 1234, ndigits = 0, digits[9]; int x = 1234, ndigits, digits[9];
while (x>0) { for (ndigits=0; x>0; ndigits++) {
digits[ndigits++] = x % 10; digits[ndigits] = x % 10;
X =x/10; X =x/10;
} }
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int x = 1234, ndigits = 0, digits[9]; int x = 1234, ndigits, digits[9], x1, divisor;
int x1 =x/ 10, divisor=1; for (x1=x/10,divisor=1; x1>0; x1/=10)
while (x1>0) { divisor *= 10;

divisor = divisor * 10; for (ndigits=0; divisor>0;

x1=x1/10; ndigits++, x%=divisor, divisor/=10)
} digits[ndigits] = x / divisor;

while (divisor>0) {
digits[ndigits++] = x / divisor;
X = X % divisor;
divisor = divisor / 10;

}
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H o 5] H[Jfg_ 48, 49, ..., 57
C. = CHEFFIF "1 %pig!@' 49 Rl = —~ iRy
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a. ™| char digits[100]; scanf("%s", digits);
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b. 7' I'JH] ¢ = getchar() Vi~ scanf("%c", &c);
c. M| scanf("%][0-9]", digits); 7V [~ scanf("%s", digits);
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L '0" £ '’ ﬁl JJ 714 F
d. *'| char str[2]; scanf("%1[0-9] ", str); 2V~
char c; scanf("%c", &c);
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char *cdigits = "O— = = P4+ = " " ¢ ='3";
printf("%c%c", cdigits[2*(c-'0")],cdigits[2*(c-'0")+1));
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int x = 1234, ndigits = 0, digits[9];
int x1 = x/ 10, divisor=1;
while (x1>0) {
divisor = divisor * 10;
x1=x1/10;
}
while (divisor>0) {
digits[ndigits++] = x / divisor;
X = X % divisor;
divisor = divisor / 10;

}

TSI = A printf(“divisor=%d x1=%d\n", divisor, x1); ¥
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